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The figures in the margin indicate full marks
for the questions.

Answer either in English or in Assamese.
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1. Answer the following questions : 1x7=7
woig @RS B ol

(a) In gymnosperms, endosperm formétion takes
place before the ............... ;
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(b) Name the agency responsible for pollination
in gymnosperms.
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(c) What are corallorhiza ?
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(d) In Cycadeoids, the strobillus bore both the
.................. ANl d e iccnersns
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(e) Liliopsida indicates which rank in the
hierarchy ?
Liliopsida® =ft Reem @1 A T
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(f) Write the floral formula of any one of
Malvaceae or Solanaceae.
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(g) Pulses belong to which family of angiosperms ?
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2. Answer the following questions : 2x4=8
| oY SRR TR ¢

(a) Distinguish between ﬁetriﬁcations and com-
pressions.
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(b) Mention the xerophytic characters of Pinus
leaf.
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(c)- Mention the -changes in the ICBN made in
the recent Melbourne Congress.
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(d) State the characters of a magnolian stamen
which indicate primitiveness.
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3. Answer any three of the following questions :
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(a) Give a brief account of the infiltration theory
of fossilization.
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(b) Write about the angiospermic characters of
Gnetum.
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(c) What is the Principle of Priority ? Give an
example. Mention the starting date which is
applicable in determining the names of seed
plants.
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(d) What is a Phylogenetic system of classifica-
tion ? Mention the 'Englerian concept of
primitive flower'.
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~ (e) Draw a diagram of grass spikelet showing all

the sterile and fertile parts with proper
labelling. :
T W e Y SRd (AR IS
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Answer any two of the following questions :
oo oAl R i e Ted et e 8x2=16

(a) What is polyembryony ? Discuss the deve-
lopment of polyembryony in Pinus with the
help of neat labelled sketches.
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(b) Describe the development of female game-
tophyte in Gnetum.

Gretum=1 T Brotgas R afFFam 3 ﬁ?l_Tl

(c) What is the basis of Bentham and Hooker's
system of classification ? Give the outline of
this system. Mention its merits and demerits.
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(d) Mention the salient features and economic
importance of any two of the. following
families : ‘
woTg & I 4ot (ol foareet 2 @afeg
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(i) Asteracae
@ferpel (ol@

(i) Orchidacae
FCAA (oI

(iii) Papilionaceae
6T e |
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